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1. ¥}0, 29C,is equal to
1 d) None of these
a) 219 + 5 20C10 b) 219 C) 20C10 )
2. The approximate value of (7.995)/3 correct to four decimal places is

a) 1.9995 b)1.9996 ¢) 1.9990 d)1.9991

3. Ifthe binomial coefficients of 2", 374 and 4t terms in the expansion of

m
{ [9l0g10 (10-37) 4 2 /2("_2)103103} are in A.P and the 6™ term is 21, then the value(s) of x, is

(are)
4 -1
a)1,3 b)0, 2 2 d)
4. 1If "C12 = "Ce then "C;,is equal to
a)72 b)153 c) 306 d)2556

6
In the expansion of (x — ;) , the coefficient of x¥ is

a) 20 b) —20 c) 30 d) —30
6. The term independent of x in the expansion of
2 15
3 .
x°+—| Is
( xz)
a)Ty b)Ts c)T9 d)T1o

/ /
If the (r 4+ 1)th term in the expansion of (% + 2z

21
al/s) has equal exponents of both a and b, then

value of r is
a)8 b)9 c) 10 d)11



10.

11.

12.

13.

14.

15.

16.

17.

1 n
The coefficient of 1/x in the expansion of (; + 1) (1+x)"is

n
Cn
a) ZnCn b) chn—l C) chl d) n—1

Let [x] denote the greatest integer less than or equal to x. If x = (3 + 1)5, then [x] is equal to

a)75 b)50 c)76 d)152
The value of 2 Cy + Z;Cl + 2?3C2 + %Cg +..+ 21—1116'10, is

11 11 3 2
34 -1 b)2 -1 c)ll -1 d)ll -1

a)
11 11 11 11
The sum of coefficients of the expansion (% + Zx)n in 6561. The coefficient of term

independent of x is

a)16 8c, b) 8C4 ¢) 8Cs d) None of these

In the expansion of (1 + x)3°, the sum of the coefficients of odd powers of x is

0 229
a) 230 b) 231 ‘) d)
. . 2 1\10,
The 6th term in the expansion of (2x — —2) is
3x
N fth
2) 4580 b) _% 9 5580 d) None of these
17 27 17
YC,+Y5_, 5¥7Csis equal to
2) %5 by 52Cs 0 52¢, d) None of these

The coefficient of x" in the expansion of (1—2x+3x*—4x3+ ...)_n, is

2 2n)! b) (2 n)z! 0 1 (2n)! d) None of these
n! (nh 2 (n)?

The term independent of x in the expansion of (1 + x)"(1 + 1/x)", is

a)C§+2Ci+3-Cé+ ..+ (n+1)C3

b) (Co+ C1 + ... + C)?

)C§+Ci+..+C2

d) None of these

If A and B are coefficients of x" and x"" respectively in the expansion of (1 + x)", then

a)A=B8B bJA+B=0 c)A=rB d)A=nB




18.

19.

20.

729 + 6(2)(243) + 15(4)(81)
+20(8)(27) + 15(16)(9)
+6(32)3 + 64 1
X = T34 + 6(16) + 4(64) + 256" €N Vx ~Jx ‘sequalto
2) 0.2 b)4.8 ¢) 1.02 d)5.2
If the coefficients of pth, (p + 1)th and (p + 2)th terms in the expansion of (1 + x)" are in AP,

then

a)n?—2np +4p*>=0

b)n —nMp+1)+4p*—2=0
An?—n(p+1)+4p>=0

d) None of the above

The sum of the rational terms in the expansion of (\E + 315104

a) 41 b)32 )18 d)9



